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Explain why recycling household materials such as plastics, cans, and paper is
important,
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Subject B Grade n Block m Block Seq n

Code | Response | Ttem: S042153
| Correct Response
10 | Refers to not wasting natural resources.
Examples:

So you won't be wasling resources.

So that our resources last longer,

So we don't use up all the fossil fuels.

Sa they can be reused and we won't waste as much material.

11 | Refersto reducing pollution (air, water, land) and/or the amount of material going into landfills.
Examples:

Most materials can be recyeled and recycling will reduce the amount of rubbish in landfill sites
and will cut down on air, environmental, and visual pollution.

Recycling is important because we don't have as much pollution.
So we can reduce the amount of trash and we form compost soil (very good) for plants.
They decompose very slowly, some of them never.

19 | Other correct

Incorrect Response

70 | Refers to environmental protection.
Examples:

We save the environment.
Environment protection.

71 | Refers to rensing materials only.

Examples:

The materials can be reused.

Because if you recycle them they can collect them and use them again.
Because they can be broken down and made into something else.

79 | Other incorrect (including crossed out, erased, stray marks, illegible, or off task]

| Nonresponse
99 | Blank
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The diagram below shows Farth’s water cycle.

Pt e
~| Condensation

What is the source of energy for the water cycle?

(&) The Moon
The Sun
(© The tides
(D The wind
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The Central City Power Station burns coal to generate power for the city. As the
coal burns, sulfur that is present in the coal reacts with oxygen to form sulfur
dioxide, which is given off as a gas.

How does this process result in acid rain?
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Note: Accepted ways that groundwater can become polluted include reference to:
Pesticides
Fertilizers
Factory waste
Chemicals (salt)
Landfills (rubbish, garbage)
Acid rain
Sewage
Oil
Leaking pipes
Code Response Ttem: S042149
I:I Correct Response -
10 | Describes one way that groundwater can become polluted.

Examples:

Pesticides used by the farmers can leak into the ground with rainwater.

Disposing of factory waste in water,

We bury our litter and waste underground by landfill.

Acid rain can make water acidic.

Things get absorbed by the soil and seep into the water.

Because at dump sites toxic items can be dumped on the land and the toxic liquid absorbed into

the ground.

Incorrect Response

~]
L =

Incorrect (including crossed out, erased, stray marks, illegible, or off task)

Examples:

The dirt can become mixed with the water.

When stuff is put down sewers and pollutes ii.

Because of the drains.

It can get dirty.

Gases in the air turn to vapor.

’_’ . Nonresponse |

99 | Blank
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Explain w||j.- soil erosion can be reduced by planting trees.
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Note: Accepted explanations include:
Tree roots bind the soil together.
Trees absorb a lot of rainwater.
Trees shelter the soil from water.

Trees act as a windbreak.

Code | Response [ Ttem: S042155
| Correct Response
10 | Refers to one of the explanations as listed in the note above.

Examples:

The tree's rools grasp hold of soil tightly preventing soil erasion.

The roots will absorb a lot of the rainwater.

The trees will protect the soil by covering if.

A stand of trees will act as a barrier to the wind.

The trees will protect the soil from too much wind.

The roots of the tree are strong enough to hold the soil in place. So when there is a heavy flood, soil
erosion can be prevented as the roots are holding on.

| | Incorrect Response

79 | Incorrect (including crossed out, erased, stray marks, illegible, or off task)

: Nonresponse
99 | Blank
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